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Time : 3 Hours Maximum Marks : 100

Note : Question No. 1 is compulsory. Answer any
other four questions from the remaining
questions. All questions carry equal marks.

You have to answer a total of five questions.

1. (a) Given below is a list of activities. For each,
state the area in which the activity
primarily  fosters development. The

first one has been done for you as an

example : 11
Activity Area of development
Example : Fine motor development
Buttoning shirt

(1) Making objects with clay

P.T.O.



(b)

(a)

(b)

[2] ACC-01

(i1) Playing in a team game

(111) Dancing to music

(iv) Laying out a many stones as the
number of pencils

(v) Matching cards of different colours

(vi) Story-telling

(vi1) Playing with blocks

(viil)Singing a song

(ix) Smiling on seeing the mother

(x) Scribbling with crayon

(x1) Climbing on a jungle gym

Differentiate between the following, giving

examples : 3x3=9

(1) Gross motor and fine motor
development

(1) Free play and structured play

(i11) Development and growth

Do you think taking children out on trips
helps in their development and learning ?
Support your answer with reasons and
examples. 15

Briefly describe any two play activities
which can help preschoolers to develop the
concept of size. 5



(a)

(b)

(a)

(b)
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Describe, giving examples, the stages of
language development from birth to two

years of age. 15
Suggest any two ways through which

caregivers can foster language

development during first two years. 5

What do the terms “Cognitive
Development” and “Social Development”
mean ? 5
Describe with examples, any three

principles of development. 15

Discuss the factors that you will keep in mind

while evaluating the following : 10+10

(a)
(b)

Preschool educators in the ECCE centres

Play activities conducted by preschool

educator

P.T.O.



(a)

(b)

(a)

(b)
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Explain, what do you understand by
“Conservation”. Why are preschool children

unable to conserve ? 5+10

Describe two activities to foster concept of

shape in four year olds. 5

What kind of an environment in a
preschool centre promotes creativity in

young children ? Describe giving examples.

10

Explain any four strategies using which
parents and caregivers can handle the

child’s aggressive behaviour. 10
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(i) wHfew T S

(iii) EId W A KL
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(@) fe=l I ga fafafa &1 9899 o S
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P.T.O.
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